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NAME DATE PERIOD

Skills Practice

i Angles and Parallel Lines
In the fig‘ure, ms2 =70, Find the measure of each angle.

T R 2.25 1O
3.8 1O 421 O
5.4 \IO 6.26 0°

In the figure, m£7 = 100. Find the measure of each angle.

o

7.49 10D B 46 RO
9.,8 20° 10. 22 SO
1. 25 \o° 12,211\

In the figure, m£3 = 75 and m£10 = 115. Find the measure
of each angle.
13.22 \\9° 14. L5 ||S°
- 16.27 118° 16. 215 |\s °
17, L1 =™ 18. 29 %"

Find x and y in each figure.

+yuoz=\pd . 2
19. S%+Y = QK ~-\0& 1Y
SY = \HO
e e -10= O
5¢ X
foo\ 11O 3yl = \HO X.=1O
(3 -'1)“ -1y P . i
' a9 by 120 +70 =10
\ J* Wi !_O-If' rap-\ ’zzj D
[3’} A0
WD

Find m41 in each figure.

K
o0
c, \'LO

Lesson 3-2
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